
Important Notice

At the time of printing the rates used in the calculation of the Saskatchewan dividend tax credit were
not available. Please find the calculation below.

Saskatchewan dividend tax credit
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Line 120 of your return

Add lines 4 and 5
Enter the result on line 6152 of Form SK428.

Line 180 of your return
Line 1 minus line 2 (if negative, enter "0") 3

4
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Determine the amount to enter on line 6152 of Form SK428 by completing one of the two following calculations:

If you have an amount at line 120 and no amount at line 180 of your return, complete the following:

Line 120 of your return

If you have amounts at lines 180 and 120 of your return, complete the following:

=

Enter the result on line 6152 of Form SK428.

Line 6152  –  Saskatchewan dividend tax credit

 ×    8%   =
 ×  11%   =

 ×  11%   =
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